

916 RED BIRD RD, KEY LARGO, FL, 33037

https://ritterproperties.com

Beautiful 5-bedroom 3-bath 2-story waterfront home facing a canal that leads to the ocean. You can have your coffee sitting on your master suite balcony, watching the sunrise over the ocean. The backyard has 2 double-gated entrances for easy storage of your Boat, Boat Trailer, jet skis, Kayaks or RV, a dock, and 2-davits. Freshly [...]

- 5 heds
- 3 baths
- Residential
- Single Family Residence
- Active
- 2629 sq ft



This site can't load Google Maps correctly.

Do you own this website? g.co/staticmaperror/signature



Basics

Date added: Added 1 month ago

Type: Residential

Bedrooms: 5 beds

Half baths: 0 half baths

Area: 2629 sq ft

View: Canal, Water

MLS ID: A11582548

Category: Single Family Residence

Status: Active

Bathrooms: 3 baths

Total rooms: 9

Lot size, sq ft: 4902 sq ft

SubdivisionName: LIME GROVE ESTATE SEC 1 **ListOfficeName:** Dover International Co., Inc.

ListAOR: Miami Association of REALTORS®

Rooms



Room type	Dimensions	Area	Length	Width
FifthBedroom	10.6x11.3	119.78	10.6	11.3
Kitchen	9x11.9	107.1	9	11.9
FourthBedroom	11x12.2	134.2	11	12.2
DiningRoom	11.9x14.6	173.74	11.9	14.6
LivingRoom	13x18.6	241.8	13	18.6
ThirdBedroom	11x11.4	125.4	11	11.4
SecondBedroom	11.7x12.4	145.079999	11.7	12.4
PrimaryBedroom	13.5x18.8	253.8	13.5	18.8
PatioBalcony	6.5x10.8	70.2	6.5	10.8

Building Details

Cooling features: Central Air

ArchitecturalStyle: Attached, Two Story **Building Name:** LIME GROVE ESTATE SEC 1

Heating: Central, Electric

Year built: 1983

NewConstructionYN: No

Roof: Metal Roof

Parking: On-street

Amenities & Features



Features: Attic, First Floor Entry, Utility

Room/Laundry

CommunityFeatures: Paved Road

Waterfront available: Yes

AttachedGarageYN: No

PoolPrivateYN: No

Amenities: Dishwasher, Disposal, Dryer, Electric Range, Electric Water Heater, Microwave, Refrigerator, Washer

WindowFeatures: Blinds

GarageYN: No

CoolingYN: Yes

FireplaceYN: No

